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[# 1.1-1] ZH| Q2 X|& OECD=RI(2009E 71E)

g 2L tat &2 OECD T
1215 GDP 17,078% 259 3.94t%
(PPP7|E) 27,169% 232 3.50%
NN EE
-GDPHEHE" 2.5% 39 0.4%
-EIEEE2 4.6% 39|/2571H=2 2.1%
MAMNEERE 2.9% 82| 2.0%

2| 12007~200949 HF 2 2006~2008H B, R2|Lf2k= 2003~2010E 7|&

[ 1.1-2] BH|I#2 X|&# OECD=H(2009E 7|&E)

g 2|Liat 22 OECD T+
ol 4,8752+H 9% 3,9782+H
HZGDP 8,32521% 11 13,73321%
(PPP 7|F) 13,2442% 9 13,5439%
foqz 6,86621% 9¢ 5,21521%

[ 1.1-3] |Gt X[ G20=+1(2009E 71=)

st a|Lizt 22 OECD T#
191 GDP 17,078% 109 2.28t%
(PPP 7|Z) 27,169% 92| 2.30t%
GDPMZHE" 2.5% 79 2.1%
MAANEES S 2.9% 79 3.1%

2 112007~2009'3 "

[E 1.1-4] N2 X|E G202=21(20094E 7|F)

gt 2Lt =2 OECD H#
el 4,8752+H 15¢1 22,2142+
HEGDP 8,325%1$ 149 23,563%1$
(PPP 7|2 13,2441 12 27,4691$
Qoan 6,86621% 5 7,98921%
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A SME 1 1.199 30¢] 1.718
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(M
B o S in =2 73.6% 189 73.2%
-ojd n2E 52.2% 259 60.1%
(e
-3HE D8 22.9% 262 40.2%
-ZAZ N8 73.3% 242] 78.4%
-IHENRE 60.4% 242 51.7%
HAE(RS &AM) 3.8% 29 7.9%
- HEs HAE 9.82% 5 18.05%
- Z7|Mdxt HIZ 0.5% 19 24.7%
AMEsEItE 65.4% 259] 72.3%
(M)
- HM 2 76.9% 219 79.6%
- oY 2otE 53.9% 2791 65.0%
(s
-HAEE zlE 25.4% 292 48.4%
-ZAE Ete 76.0% 282 84.1%
-THE e 61.8% 92 54.6%
"o 222t 2255.8A12¢ 19 1712.1A12¢

[ 1.2-2] XF2SE X|&# OECD=%(2008H 7|ZE)

Z | 20084 7|1=

st 22|zt =2 OECD W=
EDFRESHM
- 37181 2.0% 219 3.5%
- GDPLHH| HIS 27.1% 52| 22.9%
QIZH|ZFEd T MRS M
- 37181 4.9% 1221/2371= 4.3%
- GDPLHH| HIZ 19.2% 32/217h= 14.8%
DIZERER D MRS A
- 378" -5.1% 1691/2070= -1.9%
- GDPCHH| HIZ 3.5% 151/207H= 4.7%
EMNZE 30.7% 32|/28711= 22.0%
- IHHEMEE 2.9% 1721/257H= 4.5%
-HEEXNSE 10.6% 221/26701= 2.8%
-7|HEMEE 15.8% 4112672 13.4%
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[3 1.3] 7|=3i4l X|&# OECD =%(20094 7|F)
b 2E|Ltat 22 OECD Tz

=R 4 38,651 9¢ 27,1552
=2 1" Ol 0.363] 28% 0.602]
0|37 thst EHXt H|E 3 32.8% 2% 22.6%
0|27 B} 8t HIE 2 37.6% 22%1/2974= 42.2%
22X MHEE H1012 H|Z 3 10.0H 7¢ 7.6H
GDPL{H| R&D 3 3.37% 42| 1.91%
- 7|HE2 R&D X|E 3 2.54% 42| 1.24%

- HEE3 R&D X|E 3 0.41% 29 0.22%
E5| S8 12 114,19574 39/2270= 4,926
- QI HOIHE E5] S2 2441 2,65674 19 230.574
- R&D XIETHEE E5| S £ 1) 3.7 19 0.57A4
7| &R HSK([HE ) 0.43 23%1/2470= 1.16
QIE{Ll O| X} H|E 81.6% 109 71.5%
QI < 717 HIZ 3 94.3% 1< 62.5%
=12 olE{ul 0|22 33.8% 6% 25.7%
27k =T OlEHI @3 3(H2aA)  18.1$ 2% 31.5%
24 =00 7IUE 83.6% 19 40.7%
JME2 HRE BEE 81.4% 92 73.9%
SlO|H|2 MIE & HIS 3 33.4% 29 15.8%
HEEAM(ICT) ArA 3)

-ICTHIZE & HI" 3) 26.2% 19 8.8%
- ICT MH|A £& H|F 3 1.3% 2791/2871= 7.6%

ZF 120074 7|=

220064 7|= 312008 7|E

1.4, 7|etA
[ 1.4-1] =5 M4 U H|E X|E OECD =¢(20094 7|F)
b 2a|Ltz}t =2 OECD ™=
LS AR 25.1% 289 43.5%
EESMMN E718 1Y 3.63% 291/2971= 0.48%
A2t e SHS(R2 =A) 15.0$ 52|/2070= 23.6%
Az tERA ET (R M) 5.93% 19Q1/2070= 4.51%
CIo| L EH|2 S7}8 V(W2 £&A) 1.02% 42 3.13%
Z=|12007~20094 HZ#
[E 1.4-2] Xp=2 4D U H|Z X|& OECD =21(07~09'A 7|F)
st 2a|Ltz}t =2 OECD ™=
7| O|XF=2(H2 &=AM) 5.36% 2221/2870= 4.73%
Ct7| O|xt2(H2 &XM) 4.43% 2091/2671= 4.09%




[3 1.4-3] 7#H| X|& OECD =%l(20094 7|E)

b 2Liat &9 OECD T#

HEo| AEH X1 1.50 23%] 1.48
HEX|EHSY 30.0% 2921/2971= 43.6%
- $iF.2ak.x|of 2o} 1) 27.6% 221/2770= 20.6%
- 4| 2oV 22.1% 121/277h= 11.1%
- HZA.ALS|. 25} 2of 1) 27.7% 2721/2774= 51.9%
-mS ot 15.9% 6172772 12.8%
S2 FH[F? 5.5% 25%1/26711= 14.3%
HAPHE WEx|43) 0.88 12| 0.70
Ehol QIA 3)(LE2 A M) 14 1891 13.0
zhed Mx|3)(HH22 M) 8t 242 5.8HA|
el HIZ 3(E22A) 14.7% 25¢1 6.2%
o HI I (H2EM) 4% 29| 9.5%
SHe HIE(R2A) 913 28%] 29.2%

[H 1.4-4] ZM| X|H OECD &%1(2008H 7|&E)

Z | 120084 7|1=

2)20054 7|1=

320104 7|=

S LaLat =9 OECD H#

HOIMIE N (H2 £=AM) 22% 129 24.11%
ZMIZARP(SE2 M) 20.3% 29| 37.4%
=UREHE(R2 =A) 26.6% 3¢ 35.3%

- ZMEEE 20.8% 82|/287H= 25.7%

- AR E RES 5.8% 721/28711= 9.8%
ZEXO| AIS|HE REE 3.3% 1421/26701= 3.4%
OEFO|ALS|RE BEE 2.56% 2%1/2670= 5.9%

S
2t

2 ZM|ZZ}: 7| Ho| RESHE =SHIE - 22X X 2 F

Al &7 X|® OECD =%I(20084 7|&E)

Sg a|Liaf &2 OECD &

UAIE] ZEXHH[Z(H2 &=XM) 33.6% 30 13.2%
X n28ES x| 2.29 1221 2.11
QUANZI IEES K| 2.08 1421 2.08
LEXZE 10.3% 28% 29.2%
QI MG 2 A QU4 17.2¢ 23%1/2770= 8.44Y
(R2 &=NM)

LEAZZZIH XS 0.49% 25%1/2670= 1.37%
-HIM LA ZI2OM XE 0.20% 25%1/26701= 0.57%
-AFH SN ZETM XE 0.29% 242112770 = 0.78%
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[E 1.5] 7AIEHE X OECD=9(20094 71E)

st La|Liat =2 OECD H#
CPIMSE 2 &A1) 3.3% 242 2.8%
E7t $E L2 M) 64% 19 108%
ZAax| ) 1.7% 111 -1.1%
LR XY
- - Sx| 1 2.1% 49|/2871= -1.8%
- B2 2A) 33.2% 41/277H4=2 70.9%
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ISETS 5 Qols 1.3% 2591/277H= 6.6%
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- 1912 QB RIR SIS 133] 221/2870= 6.9%
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[AF1212h 2l EIZ Sl42) 7,2513] 121/2770= 2,5433]
- QOoMjatE 478 209 4.8
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orH
- U 10UBY S AUXIS¢ 978 139 1409
- ERAILE(R2 2 M) 1219 27¢1 7%
Lixtich AlLE (2 &) 19.29 29¢1 443

Z| V20054 7|=

220074 7|E 3 2005~20074 Z

51999~2008'A

= oqma=

S oS

W 420044 7=
718 620094 7|1E



R a|Ltat &9 OECD TZ
Z CO2 HISZH 2 2M) 4.98AE 252 2.49AE
1215} CO2 IS TS 2A) 10012 22+ =
1918 CO2 HER ST V(H2 &M)  88.6% 304 8.2%

CO2 RIEHRI*(S2 £M) 0.69 241 0°
SOx(EHFSHE) RIEL (2 2 M) 0.5 1991 1.1

101Et SAH|ZF3I(SH2 2 A) 610= 1591/25711= 577.6=
S olmat £x}3 77.32% 1€ 104.424%
101 EA| M| 7| HHS (S M) 380kg 59|/287H= 533.6kg
EAIMY 7| RHEIRE 49% 19 19%

| 11999~2007H W 2 2005E 7|&E 3 2006E TF 42004 7=
*C02 | = CO2ulEE / ZTIAS(GDP)

. - 10O
[® 4.2] 2 =M% X|& OECD =¢(2008H 7|F)
g 2Lzt =2 OECD Tz

121 ol X| AHIZHR2 & M) 4.67Toe 209 4.67Toe
Ol X| BT+ (2 2= M) 0.21 289 0.164

Az ol x| HIE 1.5% 304 14.3%
X2 UM H[E 34.7% 8¢ 31.5%

& IHEX|E il P2 SX|E HIE 3.15% 39 1.78%
GDPLHH| M HIS 2.52% 109 2.17%
Mis=CHH| M| B S 2 10.6% 39 6.47%
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